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1. . Answer the following questions :

woTe faal eeTRa Oe fral

()

(b)

(c)

(d)

(e)
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What is a Constructor ?

Constructor & ?

What is Inheritance ?

Inheritance & ?

What is the purpose of ‘new’ operator in C++ ?

C++ S ‘new’ operator-3 39 &2 i

Give an example of non-linear data structure.

Non-linear data structure-3 «o! Tnizad |

When do we use ALTER TABLE command in SQL ?

SQL® ALTER TABLE command (Foql I K 272

What is a Logic gate ?

Logic gate &2
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Write the full form of SMTP.

©
SMTP-3 5= Fe foralt
(h) Give an example of a web browser.
Web browser-3- <51 &wizad faz|
2.  Answer the following questions : : 2x10=20

e ePTIEE Ged frdl

(@)

®)

(0
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Differentiate between Abstract class and Concrete class.

Abstract class ¥@ Concrete class-3 TErS 2L (Tql |

What is meant by member variables and member functions ?

Member variables ®& member functions Jfea & 3o Tw 2

Distinguish between Ofstream and Ifstream classes.

Ofstream 1% Ifstream classes-< Wlero A1y (Tl |
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(e

(8)

(1)

()

Suppose an array ‘arr’ contains three elements. How would you

declare and initialize a pointer to this array ?

1l 26T, 0! array ‘arr’ © fSf 5! element SCR! B array-@ﬁ 3 g
(@@ @61 pointer declare W% initialize 1 ? _

Describe the fwo operations that can be performed on a stack.

@5l stack-q @#S AN P A3 operation ksl

What is the difference between CHAR and VARCHAR 2 datatype in

SQL.?

SQL ® CHAR W% VARCHAR 2 datatype-3 T&r® =A<<y 2

Describe the use of GROUP BY Clause in SQL with an example.

&5l TUERE FLTS - GROUP BY Clause-3 I7ged R 3 <11

State DeMorgan’s law in Boolean algebra.

Boolean algebra ® DeMorgan's 71273 ISRCATEI

What are the limitations of Karnough Map ?

" Karnough Map-d Riiaa®! F12
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() Differentiate between Router and Switch.

Router Si% Switch-3 72y (w9l |

3. (@ Explain how polymorphism can be implemented using function

overloading. , | 3

Function overloading IRKA T (FGF Polymorphism AT IR
SR 2t = |

(h) Describe the mechanism of accessing data members and member

functions in the following cases : 3
(i) Inside the main program
(i) Inside a member function of the same class

(iii) Inside a member function of another class.

were mAiRe@e (F@6 data members W% member function ¥R
_access TR AxSREAE 3efar F41 3

() main program-3 fowas
(i) 9F class-(d member function-¥ f&e3®

(i) (=N &5t class-2 member function-3 foo4@ |
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() Rewrite the following program after removing the syntax errors,

if any : 3. |
Wﬁmprogramﬁfﬂﬁﬁm%mmmﬁﬁﬁw
T B2

# include <iostream.h>
class Ro(_)m

{ int length ;

int width ;

public

Room ( )

{ length =0 ;
width =0 ;

}

Room (int value=8)

{
length = width =8 ;

}

void display ( )
{
cout<<length <<* << width;
}

};
void main ( )

{

Room obj Room 1;
obj Room l.display ( );
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(e)

" Or/ 93t

Write a program in C++ to demonstrate constructor overloading.

Constructor overloading (YA1RCa €61 C++ program &4

Al

Convert the following infix expression into postfix. 3

@19 infix expression (Bl postfix (& HoIETS F41 |
(AxB-(C-D))/(E+F)

g Or/ gt

Calculate the value of the following postfix expression.
we¥ postfix expression (B T S 41 |

546+74-%9/35 15 + +

Write the steps to search 23 using Binary search in the fol]o‘:»ving

array : . 3

A[2]5[8[12[16]23][38]56]72]

@] array (GBS Binary search #&fSta 23 3 3@ F@tA ACarGH"

AMCHOPTIR [ ¢

A[2]5]8]12]16[23[38[56]72]
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Or/ 92t

Write an algorithm for Selection sort. - 3

Selection sort ¥ algorithm (5 fo72f |

()  Differentiate between ‘IN’ and ‘BETWEEN’ operators in SQL with

example. . | 3

AR AYAS SQL-T ‘IN’ &% ‘BETWEEN' operator-3 &S /1<y
el |

Or/9qt

Write the necessary SQL commands to create a table (STUDENT)

with the following attributes :

©oTS fAl attribute FCXA 93 table (STUDENT) create SR it
TS (A SQL command ISR

Roll_No integer

Name - Char (35)
address Varchar 2(70)

Set the Roll_no as the primary key of the table. .

Roll_no (B! table ¥ primary key 51t set 31}
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() Identify each of the following logic gates by name and

construct their respective truth tables. 3
: Aﬁ(}g@ut A_._nglt A4 output
W R
B ‘ B o B
weq 2ifS3 logic gate CIAIRE ANE (ICS fBAING 31 W% ATSAA truth
table 5« 41|
A:_D_gtip_ut A__ng;t /’_\__O output
— —o0
B B B
Or/ o4t

Construct a truth table for the following function and from the truth
table obtain an expression for the inversion function

F(A, B, C) = A + BC

©&¥ function (B AR truth table %16 1 W% truth table ¥ Al
inversion function ¥ &G! expression ferait |

F(A, B,C) = A + BC

() Write the advantages of Star topology. _ 3

Star topology- ‘«'Iﬁﬁm‘{i GEO
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(1) Write a short note on twisted pair cable.
Twisted pair cable-3 Rata @i 53 (G =11 |
Or/ G341

Write a short note on Firewall.

Firewall-3 Raca @b E\I(Bl?ﬂ Gl

4.  Explain different types of Inheritance available in C++.

C++ © 43t JfSq 499 Inheritance 3 &A@ 3¢ 311
Or/ 523t

Explain the visibility modes available in C++ with example.

TR TS CH+ © 2 visibility modes e Racw adfat w411

5.  Describe the basic functions available in C++ for file operations.

C++ © file operation ¥ I I NS function IR I 31 |

Or/ S3qt

Write a C++ program to create a new file and write some lines to it.

@Bt A FIZA create IR @A AR @6 C++ program o1 |
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6. Write a C++ program to implement a Stack.

@B Stack implement IR C++ © B! program =741 |

Or/ 594t

Write a C++ program to implement a Queue.

«Bi Queue implement FRIA C++ © €l program fer
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